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Question Number : 1 Question Id : 3982821827 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

How many countries are currently members of the United Nations?
(1) 190
(2) 191
(3) 192
(4) 193

FOTANLa T mé@m&@‘é&m@ﬁ‘ ‘:’:}i e EVAVICSN )y &:J“;Lmy?

(1) 190
(2) 191
(3) 192
(4) 193

Options :

1.%1

Question Number : 2 Question Id : 3982821828 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



A gold ring 15 58.33% pure, its purity can be alternatively shownas .

(1) 24 carat

(2) 22 carat

(3) 14 carat

(4) 18 carat

20 0000 58.337 AGENDING. T° WIGYBAD IEROF) GDOT__ TP clFaiy,.
(1) 24 5765
(2) 22 5665
(3) 14 =065

(4)18 5§05

Options :
1. % 1
2. % 2
3.3

4. % 4

Question Number : 3 Question Id : 3982821829 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which one of the following is not a member of the Quad group of Nations?
(1) France

(2) USA

(3) Australia

(4) Japan

208 735" DH SE (PO 9D ?6:153&5"' 2E§TReD STE?

(1) &0y
(2) USA
(3) 520

4) 335

Options:

1.41



Question Number : 4 Question Id : 3982821830 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following lens are used in the microscope?
(1) Convex lens

(2) Concave lens

(3) Curved lens

(4) Cataract lens

DEIY DS 806 Tr3eS° I Srsren EDCIrHoSEEPON?
(1) So0z75°0 StaSo

(2) spers6 Eeako

(3) Dofic 5880

(4) Sotd30S0 S50

Options :

1.1

Question Number : 5 Question Id : 3982821831 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



The Nobel Prize was awarded for the first time in
(1) 1901
(2) 1911
(3) 1921
(4) 1931

TS LT0DAD DO I8 5" DErdo IF.

(1) 1901
(2) 1911
(3) 1921
(4) 1931

Options :
1.9 1
2. % 2
3.% 3

4. % 4

Question Number : 6 Question Id : 3982821832 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

*Channel Tunnel” 1s an undersea rail tunnel that links

(1) England and Ireland

(2) England and France

(3) France and Germany

(4) Germany and England

"5 06" DO D Yo I DaGIc, Ten Todorio.
(1) @otrol B0 DU ok

(2) @orrol BoID Proy

(3) &Py awBasL 26D

(4) 20,0 B0 QoTrol

Options :

1. %1

2.



¥ 2

Question Number : 7 Question Id : 3982821833 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

One nautical mile 1s equal to
(1) 2.812 meters
(2) 2.000 meters
(3) 2.450 meters
(4) 1.852 meters

w8 Tred5e Qoen 3 DATPR0.
(1) 2.812 oo
(2) 2.000 D>
(3) 2.450 Do
(4) 1.852 oex®d

Options:

Question Number : 8 Question Id : 3982821834 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Copyright day is celebrated on
(1) 3% April
(2) 26% April
(3) 23" April
(4) 28T April

005 OTSyDo D BR)ErD.
(1) DD 3

(2) DD 26

(3) DDe5 23

(4) DD 28

Options :
1. % 1
2. %2
3.3

4. % 4

Question Number : 9 Question Id : 3982821835 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Currently, how many countries are the members of the North Atlantic Treaty
Organization (NATO)?

(1) 20

(2) 24

(3) 32

(4) 44

DRG0, TG Erods 88 egpEaS (NATO)S® dDy d7ren dEbieor &mm) on?

(1) 20
(2) 24
(3) 32
(4) 44

Options :

1. %1



Question Number : 10 Question Id : 3982821836 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Buddhism 1s the world’s fourth-largest religion. It 1s believed to have originated .

(1) China

(2) India

(3) Japan
(4) Thailand

TS0 Yoo’ TOD BIDY w0 AB___ & &)Dolo) DT,
()

(2) eroesdzo

(3) aara

(4) mronerolk

Options:

Question Number : 11 Question Id : 3982821837 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Which eity is called the Silicon Valley of India?

(1) Kolkata

(2) Bangalore

(3) Chennai

(4) Hyderabad

DI T7gH 6D Qodair B D JT°DY DeVFM?
(1) ESsar

(2) Sor1wird

(3) o)

(4) roTrerd

Options :
1. % 1
2.9 2
3.%3

4. % 4

Question Number : 12 Question Id : 3982821838 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which 15 the first electronic stock market in the world?

(1) National Association of Securities Dealers Automated Quotation System (NASDAQ)
(2) New York Stock Exchange (NYSE)

(3) Korea Stock Exchange (KOSPI)

(4) Bombay Stock Exchange (BSE)

DD0ocI0eS” DAV DS F§ )t IB?

(1) 3598 T nahiad e:.ri: RETBEN Coby etiHE ERS dPa (NASDAQ)
(2) Argasirb), o5 3y\08 (NYSE)

(3) E0awr 5 N (KOSPI)

(4) erodl Qﬂé u}§%oe§ (BSE)

Options :

1.91



Question Number : 13 Question Id : 3982821839 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who 1s the youngest Billionaire i India?
(1) Nikhil Kamath

(2) Nithin Kamath

(3) Divyank Turakhia

(4) Ankit Bhat:

2P0 3065” 90y DY DOV ED DBoDIE dDHH?
(1) DDed s

(2) DI SEaD

(3) Oarges soo Dol

(4) 903 277&d

Options :

1.41

Question Number : 14 Question Id : 3982821840 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The word Satyameva Jayate in the State Emblem adopted by the Government of India have been
taken from which Upanishad?

(1) Mantrika Upanishad

(2) Muktika Upanishad

(3) Mundaka Upanishad

(4) Maitrayini Upanishad

08 OG0 BATdeN T°Y z‘I);Jﬂrloej‘fJ Qg 200d D Do J EHANS Dok
frngncod?

(1) Sorof8 &DADM

(2) 085 &DADW

(3) ots &DANG

(4) groned &DAL

Options :
1. % 1
2. % 2
3.¥3

4. % 4

Question Number : 15 Question Id : 3982821841 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Where are the Bermuda Islands located?
(1) Caribbean Island

(2) North Atlantic Ocean

(3) Gulf of Mexico

(4) The Mediterranean Sea

Bay e Sapen )¢ ey on?
(1) £6DADS Ao

(2) &80 e9erods DFHADGO
(3) (15 esd AWEE

(4) mf::.’:?gc_ﬁn‘* Rawdo



Options :

Question Number : 16 Question Id : 3982821842 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Find the next one in the series:
AZ D8, G4, 120.7

(1) M24

(2) M26

(3) N24

(4) N26

HBDES” BEDBEDY ER0FH0E:
A2, DS, G14, 1207

(1) M24

(2) M26

(3) N24

(4) N26

Options :
1.%1

2. 2

Question Number : 17 Question Id : 3982821843 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

A container contains 40 litres of milk. From this contamer 4 liters of milk was taken and replaced
by water. This process was repeated for two times. How much milk 1s now contained in the
container?

(1) 26.34 litres

(2) 27.36 litres

(3) 28 litres

(4) 29.16 litres

2% S0:665° 40 Brag aren Gotrom. & 50N foct 4 Beg aren druEncod aba o)
gvr{mé* Hao D08, & HIoD TOCOFD DITDBR0A. $0366" @YD Jods drew
EKJ“;LOJJ?

(1) 26.34 Do

(2)27.36 D

(3) 28 b

(4)29.16 Bead

Options :

4. 4

Question Number : 18 Question Id : 3982821844 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



How many straight lines are there in this figure?
& DGoeS® D) VOV Fren &I an?

(1) 9
(2) 48
(3) 15
4) 12

Options :
1. % 1
2. % 2
3.%3

4.4 4

Question Number : 19 Question Id : 3982821845 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A.B. C and D are playing Ludo. A. C and B.D are partners. D 15 to the night of C. If C 1s facing
East then B 1s facing which direction?

(1) North

(2) South

(3) East

(4) West

A, B. C 2003w D ené e5COBT) . A, € B0 B.D ErP(0en. D 6dd C 3 £E DY
€008, C Brdy DY) &0t B 2 B30 DT Gotnod’?

(1) &e300

(2) e
(3} E'fi]”(i_)h
(4) 53y



Options :

3.%3

4. % 4

Question Number : 20 Question Id : 3982821846 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In a certain code
*786° means Study very hard
‘058’ means Hard work pays
‘645’ means Study and work
Which of the following is the code for *very’?

1) 5

(2) 6

3)7

48

205 EES*

786° @083 arer SHDE BEDod

‘058" e908 EHE HD B D30 &ot0d
‘645" €9083 BHEVR BT DY

308 oredeS” ‘Db’ oo & 6?7

(1)5
(2)6
(3)7
“4)8
Options :
1. % 1
2. %2

3.3



Question Number : 21 Question Id : 3982821847 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

‘A’ 15 the wife of ‘B’ and ‘B’ 1s the brother of ‘C".’C” 15 the son of ‘D’ who 1s father of'E".

Then How is ‘D’ related to *A’?

(1) Sister

(2) Aunt

(3) Brother

(4) Father-in-Law

‘A’ B’S groj nboin B’ C'8 T, C . E'd dog @ond D’ Eo. eserotiy D 'S ‘A

'3 Jer Wokotio &0h?

(1) Fed

(2) o8

(3) Fom

(4) e

Options :

1.%1

Question Number : 22 Question Id : 3982821848 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



If ‘A’ means +, ‘B’ means —. ‘C’ means + and ‘D’ means X. then find the correct answer of the
tollowing:

18A12C6D2BS

(1) 15

(2) 17

(3) 25

(4) 27

‘A’ w0t +, ‘B 0t —, °C” w0t + nBan D’ o] X, 0w, 508 S 03N M)
Sff doc.:

18A 12C 6D 2B 5
(1) 15
Q1
(3)25
)

| i
¢ -
.'I

(4

| S ]

Options :

3.%3

4. % 4

Question Number : 23 Question Id : 3982821849 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Seismography: Earthquake :: Extensometer: 7
(1) Landslides

(2) Strains

(3) Resistances

(4) Volcanoes

P 0 ZrGoD0o 1 ITYS\I0es: ?
(1) orgol ?\E:;&:,

(3) BRIy

(4) o) 3D



Options :

Question Number : 24 Question Id : 3982821850 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A virtual image larger than the object can be produced by
(1) Convex Mirror

(2) Concave Lens

(3) Concave Mirror

(4) Plane Mirror

DY 508 DG DONDG/SPONIE PBDoery OO E0S S0DIDy.
(1) Sxoe75°0 e9gjo

(2) sptrrs6 Seso

(3) Derse6 ego

(4) Frorom ego

Options:

Question Number : 25 Question Id : 3982821851 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

A clock gams 5 seconds for every 3 minutes. If the clock started working at 07:00 A.M. in the
morning, then what will be the time in the wrong clock at 04:00 P.M. on the same day?

(1) 03:45P.M.

(2) 04:10P.M.

(3) 04:15P.M.

(4) 05:00P.M.

26 3 DaPo) w8 (EoIrto 5 H8 Tocheod. (éalrde &tonoe 07:00 AM.3 DI Sobio
Cod)ouwtione | e 8@ 022 04:00 P.M.S 6D (a0irdod) 000 Jodd e5))d00d).
DodRtiond , ey ©d e 04:00 P.M.3 8y (Eairoos” : N &?

(1) 03:45 PM.
(2) 04:10 M.
(3) 04:15 PM.
(4) 05:00 P.M.

Options :
1. % 1
2. % 2
3.3

4. % 4

Question Number : 26 Question Id : 3982821852 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

How many times are the hands of a clock at right angles in a full day?
(1) 24
(2) 48
(3) 22
(4) 44

Qrd Fewed” Ac.airco 00, Seven voe) oS’ DY JW Gotron?
(1)24
(2) 48
(3) 22
(4) 44

Options:



4. ¥ 4

Question Number : 27 Question Id : 3982821853 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The furst day of the year 2023 was Sunday. What will be the last day of the year 20267
(1) Thursday

(2) Tuesday

(3) Sunday

(4) Saturday

2023 RDos)eyGo 06 Be» esdardo. 2026 R0 bo LB Bear 267

(1) fotharCo

(2) svofi¥ardo

(3) esarCo

(4) 30ardo

Options:

Question Number : 28 Question Id : 3982821854 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



What will happen if diameter of artery 1s reduced?
(1) Blood Pressure will fall

(2) Blood pressure will increase

(3) Blood pressure will remain same

(4) Blood will coagulate

G0 CINE), TR0 BHB DI 2ALEH?

(1) 6560 BHevod

(2) 650 DB

(3) 050 eserD) Eotnod

(4) 080 (E5CHB000

Options :
1. % 1
2.9 2
3.%3

4. % 4

Question Number : 29 Question Id : 3982821855 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Arrange the following in a logical order :

1. Euphoria 2. Happiness 3. Ambivalence 4. Ecstasy 5. Pleasure
(1) 14,253

(2) 3.2,5,14

(3) 2,1.3.4.5

(4) 2.34.15

306 B Q) & ganoe)” 9000C:
legroo 1. esdodso 3. Dobied 4. .ﬂ“da‘)éﬁo 5. oo

(1)1.4.2.5.3
(2)3.2.5.1.4
(3)2.1.3.4.5
(4)2.3.4.1,5

Options :
1.



Question Number : 30 Question Id : 3982821856 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

A man walks 5 km toward the south and then turns to the right. After walking 3 km he tumns to the
left and walks 5 km. Now in which direction is he from the starting place?

(1) West

(2) South-West

(3) South

(4) North-East

w8 O3 30 P 5 S MM HE, B DA PP SHMEP. 3 3.0 HEDN S0
P O 5 8.00 AETC. QYD BB 0ot g%o 20é 2 H3e° &T) 7
(1) D3yeo

(2) ptod

(3) dée

(4) 873y

Options :

Current Affairs



SectionId :

Section Number :

Section type:

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :

Question Number : 31 Question Id : 3982821857 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

39828245
2

Online
Mandatory
30

30

30

Yes

0

1
39828271
Yes

null

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following represents the absolute zero temperature?

(1) 0° C

(2) -100°C
(3) -273.15°C
(4) 100°C

308 T°edeS® DA RoRFY S Y &0 Ard0d?

(1)0° C

(2) -100° C
(3) -273.15°C
(4) 100° C

Options :



Question Number : 32 Question Id : 3982821858 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which port in India is set to be the first Green Hydrogen Hub port?
(1) Kolkata Port

(2) Cochin Port

(3) Mumbai Port

(4) Tuticorm Port

033065° D Fsezano AGH HO LA S I'G 5t @ed?
(1) ESser 6

(2) EDy® le)

(3) awod G

(4) arEdE 60 G

Options :

1.%1

Question Number : 33 Question Id : 3982821859 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Which State Government 1ssued guidelines for Elimimation of Corporal Punishment at schools in
20247

(1) Tanul Nadu

(2) Telangana

(3) Rajasthan

(4) Bihar

202485" aroTog” 7008 350 Fofoy Eo 2 T°y HESIe APGEYTOR &0 30!
(1) 0¥

(2) Boorre
(3) e
(4) DiFb

Options :
1.9 1
2. %2
3.%3

4. % 4

Question Number : 34 Question Id : 3982821860 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
S Vyavalakshmi 1s famous for which of the following games / sports?
(1) Cricket
(2) Carrom
(3) Chess
(4) Hockey
IR DRODOEY DA F08 TBS” D BN/ SEOLH DHQ Fodod?
(1) 836
(2) 57500
(3) B&Goro
(4) b4

Options :

1. % 1



Question Number : 35 Question Id : 3982821861 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The first wicket keeper to record 300 dismissals in T20 cricket 15
(1) Kamran Akmal
(2) Dinesh Karthik
(3) Quunton De Kock
(4) M S Dhom
20 8365¢5° 300 €955 HATPEL DD G D35 SH6 ‘
(1) 800 086
(2) 6D =65
(3) 850020 C 55
(4)MS &

Options :

Question Number : 36 Question Id : 3982821862 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Which location has been declared as the Eighth Wonder of the World 1n 20237
(1) Angkor Wat

(2) Taj Mahal

(3) Great Pyramid of Giza

(4) Great Wall of China

202365° H03065°D DIME B D B0 VEGOSOCA?

(1) e20f) 6 o6

(2) =& 03

(3) 8 DOE es Har

(4) 08 078 3D B

Options :
1.9 1
2. %2
3.%3

4. % 4

Question Number : 37 Question Id : 3982821863 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which country will host the 2026 Winter Olympic Games?
(1) France

(2) South Korea

(3) China

(4) Italy

2026 o5 wBons e 330 DOLEFRA?
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The theme of the Mimstry of Culture tableau that secured the 1st prize at the Republic Day
Celebration Parade 202415 .

(1) India: Unity in Diversity

(2) India: Mother of Democracy

(3) Vibrant India

(4) Cultural Harmony
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Former Indian Revenue officer has been re-elected as India’s nominee to the
Vienna based International Narcotics Control Board.

(1) Jai Shankar

(2) Jagjit Pavadia

(3) Kamala Devi Harris

(4) Ishani Duttagupta
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Which public sector enterprise was granted Navratna status recently?
(1) SCI

(2) HAL

(3) BEL

(4) IREDA
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Where did GITEX global 2023, the world’s largest technology and startup show taken place?
(1) Dubat

(2) Abu Dhabi

(3) Sharjah

(4) Ajman
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Who has been honoured with France’s highest civilian award the *Chevalier de la Legion d
Honneur® in 20247

(1) Anurag Singh Thakur

(2) Jayaram Ramesh

(3) Shashi Tharoor

(4) Manmohan Singh

202485" Dy 905 & &6 poF) 00 ‘Tardad & e TRANS & FAr) 6F dom
) Bodsem?

(1) ea:007h oh o°Er6

(1) 2000 Gabad

(3) 3d Bard

(4) 0TS Nof

Options :
1. % 1
2. %2
3.3

4. % 4

Question Number : 43 Question Id : 3982821869 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Flipkart has launched its own Unified Payments Interface Services i collaboration with
(1) State Bank of India

(2) Axis Bank

(3) Canara Bank

(4) Indian Overseas Bank
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In 2024, which organization collaborated with the Election Commission of India to provide
authoritative information on voting processes?

(1) Microsott
(2) Google
(3) Facebook
(4) Tata Consultancy Services
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Where was the first ‘Child-Friendly Police Station maugurated?
(1) Odischa

(2) Manmipur

(3) Rajasthan

(4) Maharashtra
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Who 15 the founder member of “Hasdeo Aranya Bachao Sangharsh Samithi™?

(1) Alok Shukla

(2) M C Mehta

(3) Kankri Dewi

(4) Medha Patkar
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Who 1s the first woman Vice Chancellor of Aligarh University?
(1) Nilofer Khan

(2) Santishree

(3) Nayma Akhtar

(4) Naima Khatoon
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Where was the ‘India’s First Digital National Museum of Epigraphy’ maugurated?
(1) Pune

(2) Shillong

(3) Shimla

(4) Hyderabad
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Which of the following 1s the closest to the meaning of “Silviculture™?

(1) Cultivation of Silk Worms
(2) Cultivation of Textile Crops
(3) Forest Development

(4) Cultivation of Timber
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The Gautam Buddha Wildlife Sanctuary is located in which of the following States?
(1) Bihar and Jharkhand

(2) Bihar and Uttar Pradesh

(3) Uttar Pradesh and Jharkhand

(4) West Bengal and Jharkhand
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Where 15 the Central Marine Fisheries Research Institute located?
(1) Mumbai
(2) Vishakhapatnam

(3) Kochi

(4) Goa

RO TS DABD 66y AR IE) & Eod?
(1) Qwod

(2) DF e 0

(3) &y

(4) B

Options :
1. % 1
2. %2
3.3

4. % 4

Question Number : 52 Question Id : 3982821878 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following Monsoons account for most of the rainfall in India?
(1) North East Monsoon

(2) South West Monsoon

(3) South East Monsoon

(4) East Asia Monsoon
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Which Indian city 1s known as the Manchester of South India?
(1) Coimbatore

(2) Bengaluru
(3) Chennai
(4) Mysore
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Which country has become the member of NATO in 20247
(1) Ukraine

(2) Sweden

(3) North Macedonia

(4) Austna
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Which village in Telangana has been recognized as the Best Tourism Village, 2023 by the Mmnistry
of Tourism?

(1) Ganneruvaram
(2) Pembarthi
(3) Kandakurthi
(4) Gangadevipalli
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Which Indian athlete has won a medal at the 2023 World Athletics Championships?
(1) Neeraj Chopra

(2) Kishore Jena

(3) Amoj Jacob

(4) Muhammed Anas
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Recently, the Reserve Bank of India (RBI) has imposed restrictions on which payment bank?
(1) Aurtel Payment Bank

(2) Paytm Payment Bank

(3) Jio Payment Bank

(4) India Post Payment Bank
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Recently. the Government of India has declared which airport as an International Airport in
20237
(1) Surat Airport
(2) Shimla Airport
(3) Gorakhpur Airport
(4) Jorhat Airport
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Krishna Raja Sagara Dam. 1s a gravity dam, located in which State?
(1) Karnataka

(2) Kerala

(3) Odisha

(4) Maharashtra
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Which airline launched India’s first Airbus A350 aircraft as part of its fleet?
(1) Vistara

(2) Spicelet

(3) IndiGo

(4) AirIndia
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‘Protection against Double Jeopardy” 1s guaranteed under which provision of the Indian
Constitution?

(1) Article 19 (1)

(2) Article 19

(3) Article 21

(4) Article 20 (2)
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Bye-law making power granted to the Executive by the Legislature is called
(1) Delegated legislation

2) Colourable legislation

3) Administrative lelSl’IthIl

4) Supreme legislation
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Who is responsible for the introduction of Public Interest Litigation in India?
(1) Justice P.N. Bhagwati

(2) Tustice M.N. Venkatachaliah

(3) Justice A M. Ahmadi

(4) Tustice Gajendragadkar
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Who propounded the doctrine Rule of Law'?
(1) Lord Blackstone

(2) Lord Denning

(3) AV Dicey

(4) Henry Maine
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Theft of another person’s writings/ideas and passing them off as one’s own 1s known as

(1) Plagiarism
(2) Burglary
(3) Piracy

(4) Pilferage
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What 1s known as the charter of a company?
(1) Memorandum of association

(2) Bye-laws

(3) Articles of Association

(4) Prospectus
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What is the maximum number of partners permissible for a partnership firm in India?
(1) 100 4 ) '

(2) 75

(3) 50

(4) 25
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An all women committee headed by retired Justice Gita Mittal was constituted by the Supreme
Court to examine issues relating to
(1) Offences agamst women
(2) Manipur erisis
(3) Cowvid
(4) Women employment
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Which is the oldest code of law in India?
(1) Narada Smrit1

(2) Manu Smriti

(3) Veda Smriti

(4) Parashar Smriti
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Meaning of the Latin maxim “Ubi remidium ibi jus” 1s
(1) where there 1s remedy there is right

(2) where there 1s no right there 1s remedy

(3) where there is right there is remedy

(4) where there 1s no remedy there is right
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The first Indian elected to the Parliament of Great Britain was
(1) B R Ambedkar

(2) Mahatma Gandhi

(3) Jawahar Lal Nehru

(4) Dadabhai Naoroji
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Under the Indian Law, Right to Information is available to
(1) Citizens of India

(2) Residents of India

(3) Non-residents of India

(4) Residents and non-residents of India
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Complete the Latin maxim “Actus non nisi mens sit rea”.
(1) facit reum
(2) reum misi
(3) nisireum
(4) reum facit
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Damages awarded for tortious acts are in the form of
(1) Unliquidated damages

(2) Liquidated damages
(3) Fme
(4) Injunction
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15 a transfer of ownership mn exchange for a price paid partly paid and part promised.
(1) Bailment
(2) Sale
(3) Exchange of goods
(4) Agreement to sell
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International Labor Orgamzation 1s one of the oldest organizations, established in the year
(1) 1950
(2) 1945
(3) 1919
(4) 1909
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(1) 1950
(2) 1945
(3) 1919
(4) 1909
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Which writ can be 1ssued when the appointment 1s contrary to the statutory provisions?
(1) Mandamus

(2) Certiorar

(3) Quo warranto

(4) Prohibition
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(1) drotea
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Ryland V. Fletcher case was decided in which year?
(1) 1865
(2) 1868
(3) 1856
(4) 1886
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(1) 1865
(2) 1868
(3) 1856
(4) 1886
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A borrows Rs. 20.000/- from B and keeps his golden watch as security for the payment of the
debt. It 1s called as

(1) lien

(2) hypothecation

(3) pledge

(4) guarantee
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Digital signatures are created and verified by using

(1) Programs

(2) Graphical coding

(3) HTML

(4) Cryptography
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(1) Tordoew

(2) Tro8e5 §Coh

(3) HTML
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A testamentary document is denoted as
(1) Agreement

(2) Will

(3) contract

(4) Intestate
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When was Mediation Act enacted in India?

(1) 16™ October.2023

(2) 14® December, 2023

(3) 14™ September, 2023

(4) 14® November,2023
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(1) 16 e98'er6 2023

(2) 14 230826 2023

(3) 14 &2oerb 2023

(4) 14 Hdo0erb 2023
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Mubarat under Muslhim personal law means

(1) Divorce by mutual consent of husband and wife
(2) Divorce by husband only

(3) Divorce by wife only

(4) Divorce by wife by paying certain amount
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Quasi Contracts are based on the principles of
(1) Equity and fairmess

(2) Strict Liabality

(3) Absolute liability

(4) International law
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Khatri v. State of Bihar case relates to .
(1) Rape vietims

(2) Vietims of acid attack

(3) Free legal aid

(4) Right to compensation
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The offences that can be compromised by the parties are referred to as
(1) Cognizable offences

(2) Compoundable offences

(3) Bailable offences

(4) Non-cognizable offences
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In which Article of the Indian Constitution it 1s mentioned that India means ‘India that 1s
Bharat 1s a Union of States’?

(1) Article 1

(2) Article 3

(3) Article 2

(4) Article 4
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Where the first Family Court was established in India?
(1) Rajasthan
(2) Maharashtra
(3) Tamuil Nadu
(4) Andhra Pradesh
203065 20O £r€008) TFODIHD0 G C FrdoDeC0d?
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The term “taking cognizance” under the provisions of Criminal Procedure Code, 1973
means

(1) Starting a trial

(2) Completing prelimmary requirements for starting a Criminal trial

(3) Taking notice of the matter judicially

(4) An administrative action to decide if criminal trial 1s required

32006 Toab €. 19736° Deodde P5°to "HOEPTY) AEBocEe" & HIS
eago
(A ]
(1) 03085 Jrdodocio
(2) 8008 L2008 JroDodi=S Jr@and edTrOR PO dobco
(3) oD DAY S8 Sofaco
(4) 3026 Do VOHVCAT ST 02 AFONSEAS 28 DITFOT 3O;

Options :
1. % 1
2. % 2
3.3

4. % 4

Question Number : 90 Question Id : 3982821916 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Which of the following is not entitled for protection as an Intellectual Property?
(1) Local umque foodstutt

(2) New process of a making a medicine

(3) Logo of a company

(4) Mathematical Formula

308 arede)” DE DoDANT 6L ToBTIA DH?
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The Commission recommended the constitution of a permanent Inter-State
Council for co-ordination among States and the Union.

(1) Kothari

(2) Sarkaria

(3) Mandal

(4) Kumara Pillai
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International Criminal Court was established in the year
(1) 1998
(2) 2003
(3) 2004
(4) 2001
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(1) 1998
(2) 2003
(3) 2004
(4) 2001
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Full form of UNCITRAL i1s :
(1) United Nations Commission on International Trade Law
(2) United Nations Committee on International Trade Law
(3) United Nations Convention on International Trade Law
(4) United Nations Co-operation on International Trade Law
UNCITRALGIDE), 0P8 600 .
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amounts to contempt of court.
(1) deliberate non-compliance of the court order

(2) deliberate execution of the court order

(3) intentional compliance of the court order

(4) reasonable critique of the court order
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Which of the following is a non-compoundable offence?
(1) Mischief by killing an animal

(2) Hurt

(3) Murder

(4) Criminal trespass
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When a person 1s disqualified for enrolment as an advocate?

(1) When a case 1s filed by his wife for domestic violence

(2) When he is facing charges for murder

(3) When he is convicted in a case relating to untouchability

(4) When there 1s a litigation relating to his property
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A person commits Bigamy, if he

(1) Marries again when his first wife 1s dead

(2) Marries again when his first divorced wite 1s alive

(3) Marries again when his first wife is alive

(4) Maintains extra marital relation with a woman. besides his wife
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A agrees to sell his car to B for one lakh rupees. Before delivery of car A met with an
accident and the car got completely destroyed. The contract gets discharged by

(1) quasicontract

(2) doctrine of frustration

(3) breach of contract

(4) doctrine of estoppel
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Liberhan Commission was associated with
(1) Godhra Train Carnage

(2) Centre-State Relations

(3} Tax Reforms

(4) Babri Masjid Demolition
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What type of cases may be brought before Lok Adalat?
(1) Hemous crimes

(2) Robbery cases

(3) Motor vehicle accident cases

(4) All intentional deaths
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The nomination of Anglo-Indians to the Lok Sabha and Legislative Assemblies has been
abolished by which Constitutional Amendment Act?

(1) 95®

(2) 100%
(3) 104
(4) 105"
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A rule under International Law which binds all states and does not have any exceptions
(1) Role of strct lisbilty
(2) Jus cogens rule
(3) Rule of absolute liability
(4) Fault liability
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Probation of Offenders Act is applicable to :
(1) Convicted persons

(2) Under trial prisoners

(3) Arrested persons

(4) Persons arrested for prevention of crime
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Which of the following 1s not a part of BRICS?
(1) Brazil

(2) India

(3) China

(4) SriLanka
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Surrogate mother means
(1) Carrying her own baby in the womb
(2) Lends her womb to another

(3) Carrying a female baby in the womb
(4) Carrving male baby in the womb
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The Theory of Laissez Faire was developed by
(1) Marques

(2) Adam Smith

(3) Marshall

(4) Laski
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Betting on sports is a

(1) Crimes against property
(2) Organized crime

(3) Crime against State

(4) Crime against person
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Who i1s the present Central Vigilance Commissioner of India?
(1) Praveen Kumar Srivastava

(2) Arvinda Kumar

(3) A S Rajeev

(4) Praveen Sood
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Which 15 the newly recognized offence under the Indian PenalCode?
(1) Grievous Hurt

(2) Extortion

(3) Acid Attack

(4) Culpable homicide
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Which Commission among the following has been abolished?
(1) Finance Commission

(2) Competition Commission

(3) Electricity Regulatory Commission

(4) Planning Commission
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Read the following passage and answer the questions from 111 to 115

The Constitution of India came into force on January 26, 1950. It is a comprehensive
document. Apart from dealing with the structure of Government. the Constitution makes
detailed provisions for the rights of citizens and other persons in a number of entrenched
provisions and for the principles to be followed by the State in the governance of the
country. labelled as “Directive Principles of State Policy”™. All public authorities —
legislative. administrative and judicial derive their powers directly or indirectly from the
Constitution which in turn derive its authority from the people. The freedoms under Article
19 are those great and basic rights which are recognized as the natural rights inherent in the
status of a citizen. At the same time, none of thesefreedoms are absolute but subject to
reasonable restrictions specified under Sub-clauses (2) to (6) of Article 19 of the
Indian Coanstitution. The Sub-committee on Fundamental Rights constituted by the
Constituent Assembly suggested two types of Fundamental Rights — one which can be
enforced in the Courts of law and the other which because of their different nature cannot be
enforced in the law Courts. Later on however, the former were put under the head
‘Fundamental Rights’ as Part III and the latter were put separately in Part IV of the
Constitution under the heading ‘Directive Principles of State Policy. The Articles included
in Part IV of the Constitution (Articles 36 to 51) contain certain Directives which are the
guidelines for the Government to lead the country. Article 37 provides that the ‘provisions
contained in this part (i) shall not be enforceable by any Court. but the principles therein laid
down are nevertheless (i1) fundamental in the governance of the country and it shall be the
duty of the state to apply these principles in making laws. Article 51A imposes the
fundamental duties on every citizen of India Since the duties are imposed upon the citizens
and not upon the States, legislation is necessary for their implementation. Fundamental
duties can’t be enforced by writs.
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Which of the following 1s the real source of the Constitution of India?
(1) The people

(2) Parliament

(3) Supreme Court

(4) Constituent Assembly
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Which part of the Indian Constitution is Fundamental in the governance of thecountry?
(1) Fundamental Rights

(2) Darective Principles of State Policy

(3) Fundamental Duties

(4) Centre-State Relations
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Whether Fundamental Rights and Fundamental duties can be enforced by mvoking writ
jurisdiction?

(1) Both Fundamental Rights and Fundamental duties are enforceable

(2) Only Fundamental rights are enforceable

(3) Only fundamental duties are enforceable

(4) Flllldﬁlllﬁll’[’il duties to be followed by the State
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All Judicial Authorities directly or indirectly derive their powers from
(1) Constitution of India

) Legslature

) Government

) Constituent Assembly
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Which of the following statements 1s true:
(1) Fundamental rights are absolute

(2) Some fundamental rights are absolute and some are not

(3) Fundamental rights are not absolute, they have reasonable restrictions
(4) Fundamental rights are unenforceable
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Read the following passage and answer the questions from 116 to 120

The word ‘environment’ is derived from the French word ‘environner’, which means ‘to
encircle’ or to surround. It is a combination of living and non-living things and their mutual
interaction with each other which leads to an ecosystem. The term ‘pollution’ refers to
unfavourable alteration to our surroundings. wholly or largely as a by-product of human’s
action through direct and indirect effects of changes in energy pattern, chemical and
physical construction and abundance of organisms. Industrialization. poverty. population.
explosion, urbanization, over-exploitation of resources. ete. are some of the factors which
have contributed to environmental deterioration. The most common air pollutants in urban
areas include Sulphur dioxide, Nitrogen oxide., Carbon monoxide, ete. Apart from this, the
gases discharged from refrigerators, air conditioners ete. are responsible for depletion of the
Ozone layer. Deforestation, release of toxic substances on the land, throwing unhygienic
waste on earth. dumping of garbage. biomedical waste etc.. causes land pollution. The
Ministry of Environment. Forest and Climate change is the nodal agency of environmental
protection in the administrative structure of the Central Government for planning,
promotion, coordination and overseeing the implementation of India’s environmental and
forestry policies and programmes. Itwas the Bhopal Gas Tragedy which necessitated the
Government of India to enact a comprehensive environmental legislation. including rules
relating to storing. handling and use of hazardous waste.
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15 the nodal agency for protection of environment and promotion of
environment policies in India,

(1) Pollution Control Board

(2) State Government

(3) Central Government

(4) The Ministry of Environment, Forest and Climate Change
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The gases discharged from air conditioner and refrigerators results in
(1) Depletion of nitrogen layer

(2) Water pollution

(3) Depletion of ozone layer

(4) Land pollution
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What made 1t necessary the Government of India to enact a comprehensive environmental
legislation?

(1) Environmental Deterioration

(2) Industrialization

(3) Ministry of Environment, Forest and Climate Change

(4) Bhopal Gas Tragedy
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Which of the following has not contributed to environmental degradation?
(1) Unemployment

(2) Industrialization

(3) Urbanization

(4) Deforestation
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1s a combination of living and non-living things and their mutual interaction
with each other.
(1) Environmental Legislation
(2) Land Pollution
(3) Ecosystem
(4) Environmental deterioration
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